T KELLICEEI HERRAE(TER O RRIR)

Rk BR.LEX

BARAREZRDIER SERIhDERE

B B & & 024B0662

& AT % FRET

Fr £ ih AFEThET 51 Hh
HOE ¥ B BRI IRELE KA
T

» &30

;jzif#t” "\.k“ﬂl

o

18,

T R (S=1:25,000)

a
77




2RENM D BRERXE SRS

Ht3—1 AEOBThOHEL ELLEEOSZThOHLLHOBER [ #=a=e TRISTIE

BE MM OEE ] EHES 02480662 | &ma A R




RIER b AR X EGEH =

HX3—2 BEYITERT HLBEESNDEEICETHBIE/1) i i} | mEEE | AR
StEgtoiE [ #@mES | 024B0662 Ehiea HHT FRfEME | K L
) SERMO TinlICEET S ZEH A
Eﬁg TREOBEBOSILHOKRES TERFEDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREZEOHBESEILADKES
&S X 4 Er‘:ﬂ:c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(gifn:é)é Z 4 'Fﬁﬁﬁ?é\é:zg;kzlz _('%r_n_c)k jj(lfifn:é)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt'.%' jj(lfifn:é)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(&itr:f)é
7 100kN/mM%BZ 5 — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEiBZ D -~ — — —
s 1.00 | 0.00 ~ 433 54.06 | =nRS | 000 ~ 4.33| 1.98 10.59 st 1.00 | 6.00 ~ 5.00 54.06 | ThLS | 5,00 ~ 6.00| 1.98 10.59
2 100kN/mM%#BZ % — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEi#BZ D -~ — — —
zh st — -~ - —| Zhilst -~ - — — FhLst — — ~ — —| =hiist — ~ — — —
3 100kN/mM%#BZ % — - ~ — —|3mZEBZD - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZE#BZD -~ — — —
zh st — -~ - —| Zhilst -~ - — — FhLst — — ~ — —| =hiist — ~ — — —
4 100kN/mi%E#2% | 1.00|0.00 ~ 0.39 105.83 |3m%E#BZ 5 - ~ - - — | 100kN/m%#B25% | 1.00 | 1058 ~ 11.69| 105.83 |3mZE#BZ5 -~ — — -
s 1.00 | 039 ~ 818 100.00 | =nst | 000 ~ 818 | 2.14 11.45 st 1.00 | 6.00 ~ 1058 100.00 | =nLst | 6.00 ~ 1169 2.14 11.45
5 100kN/mM%#BZ % — - ~ — —|3mZEBZ D - ~ - - — | 100kN/M%#BZ 5 — - ~ — —|3mZEBZD -~ — — —
s 1.00 | 0.00 ~ 767 9836 | =nst | 000 ~ 767|210 11.24 st 1.00 | 6.00 ~ 1040 98.36 | =nLS | 5,00 ~ 1040| 2.10 11.24
P 100kN/mM%#BZ 5 — - ~ — —|3mZEBZ D - ~ - - — | 100kN/M%#BZ % — - ~ — —|3mZE#BZ D -~ — — —
s 1.00 | 0.00 ~ 315 40.34 | FnLSY | 000 ~ 315|229 1225 st 1.00 | 6.00 ~ 5.00 40.34 | ThLS | 5.00 ~ 56.00 | 2.29 1225
- 100kN/mM%#BZ 5 — - ~ — —|3mZEBZ D - ~ - - — | 100kN/M%#BZ % — - ~ — —|3mZE#BZD -~ — — —
s 1.00 | 0.00 ~ 3.16 40.41 | FnLSY | 0.00 ~ 316 | 2.29 12.24 st 1.00 | 6.00 ~ 5.00 40.41 | =hS | 5.00 ~ 6.00 | 2.29 12.24
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~

U3
H
M|



